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NO | M5 | BERE EH AP A% iS4 NO | M5 | BERE =] VAPPS fA% iS4
1 ZF | 200m | BAA V- | AFEEUT 1 9:30 23 | =F | 50m HikE dEELT 3 12:30
2 ZF | 200m | fEAAN V- 5 6% 1 9:36 24 | =+ | 50m HikE 5 6F4% 3 12:36
3 BF | 200m | @A V- | AFEELUT 1 9:41 25 | BF | 50m HikE dEELT 3 12:42
4 SBF | 200m | fEAA L= 5. 6% 2 9:46 26 | BF | 50m HikE b 6% 3 12:48
5 ZF | 100m HixE AEEUT 1 9:54 27 | =F | 50m FikE dEELT 2 12:54
6 ZF | 100m HixE 5 6% 1 9:58 28 | =F | 50m FikE 5 6F4% 3 12:59
7 B+ | 100m HikE AEEUT 1 10:02 29 | BF | 50m FikE dEELT 3 13:04
8 B+ | 100m HikE b 6F%E 2 10:05 30 | BF | 50m FikE 5-6F4% 5 13:10
9 ZF | 100m FikE AEEUT 1 10:11 31 ZF | 0m | N2TF4 | AFEEUT 3 13:18
10 [ zZ+ | 100m FkE 5 64 1 10:15 32 | ZF | 50m | "2TSA 5. 654 3 13:24
" B+ | 100m FikE AEEUT 1 10:19 33 | BF | 50m | NX2T54 | AFEELUT 1 13:29
12 | BF | 100m FikE b 6F%E 3 10:23 34 | BF | 50m | "2TS4 5-6F4% 3 13:32
13 | &=F | 100m | X2 T54 | 4FLLT 1 10:31 35 | =F | 50m =Yz dEELT 2 13:37
14 [ zZz+F | 100m [ XE2 TS A b 6% 1 10:34 36 | =F | 50m =Yz 5. 654 7 13:41
15 | BF | 100m | X2 T54 | 4FELLT 1 10:37 37 | BF | 50m =Yz dEFEELT 5 13:50
16 | BF | 100m | X2T754 5. 6% 1 10:40 38 | BF | 50m =Yz b 6F4% 9 13:58
17 | =+ | 100m B AEEHUT 1 10:43 ®wE 104
18 | ZF [ 100m B 5. 6% 3 10:46 39 | Z&F [4%x50m AP L-YL- 23] 2 14:20
19 | BF | 100m B AEEHUT 2 10:53 40 | BF |4Xx50m A b-yL- 23] 2 14:31
20 | B+ | 100m B 5. 6% 4 10:58 BT P ERZ 14:42

®wE 105 FAS BRI (F &) 14:55
21 ZF [4%x50m JLr— *E 2 11:20 FAS=K T B (F &) 15:00
22 | BF |4%x50m JLr— *&E 2 11:31

FRIB MR T FERZ 11:41
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